W{E%E% > {?iuz?]l?--zuzoéﬁ 0L A 19 A
TS e p | F5 AT ILNS6 R |

[K3] REZE =1/3199 (1/55.8) FEZ = 41 100% - #45% 1000% THHR = BAE /10(+4) or 100(+4) @ E Ik =381828587&7&15

WY (- -- 1R RS
WA S (LR - 2L
W T ORI AT — - - - 41E
BB R AHEHE
W FEE- Y
W30
(F|F=—) 1/67.6
WEEH---HiTS

<THRYH—HEHE>

[K3]

( Evi&74H2vh— 15{8/10C)

p, ;> (T7Hvh— 7{8/8C)
v - F8R---- 384 @

- FVIR+TF3R: - 284 f@

+ EVIR+_E9R: 1,400 {@

| Pizig dodnn=d |
RUA—RF—ME>

[FE#EZaL— 3]
<sEBREEHN= » E>
KOMTIS. HRMERLET, (RE [K3))

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




